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E R A E § nimn| 35 m/min
w A E N kg/cm? 70 kef/cm?
[ & % rp.m 1400rp.m
1RBIRTEAL 5: 1
EaittHE 2/ min 16 2 /min
TRE D kg/cm? 85kg/cm?
2REIRVTEALL 20 : 1
EaittHE 2 /min 142 /min
EREAN kg/cm? 85kg/cm?
RAVPE—5— ¢ 80°C
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E—XRxRKE=E kg 400kg x 2
W% B .
® ® & E & (WD 1053 D1

N A2k FEH =R




B3
BRERTAZE - 2BERUVASAE—XDHEIZEER 0 EHHERERRE

B g
= A #H > s - km / h
~ ] g
1 X2 k 6.0 6.5 7.0 75
v 2 - X - AR - FSX - X - X
k 8 A+ E—X Rk E—X RAb [e—=x RAb E—X RAb E—X
2/km \ke/km| 4 4,690 5,080 5,471 5,863
15 5.025| , g 5.443| 4 a3 5.863| 5567 6.281] 4500
67 6 | 16 5,360 5,806 6,253 6,700
1.7 5,695 6,170 6,644 7,119
/km (ke/km| 4 4 3,360 3,640 3.920 4,200
15 3.600| ; g5 3.900] , 504 4200] 5 45g 4500| , 413
48 37 1.6 3,840 4,160 4,480 4,800
1.7 4,080 4,420 4,760 5,100
2/km [kg/km
14
15
1.6
1.7
g NAb IMEHEE=ITXRE X FH=E X EE x1.000+-60)+2
‘ (ke/30%)  (km/h)  (/km) )
A5
E—X 30 EIMt 2 =i T3RE x EfH= % 1.000+-60)=2

(kg/30F)) (km/h) (kg/km) (4)
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FIARKRTED 25Kg/cm? ERE 0.18MPa
E2RRUTES 50Kg/cm? Fu % 6m/m
FoRRTHHIE A 7.0MPa
FyTZE 80/150
RAk Hfi:g
MM HBYMLEEHE AT 149R8 24 Ut i 5 HtHEFEHIE
B I EEFRAUF BROEE  |["(oMHHE 9.098.0
¥ l=g G1 G2 G1—G2 D95.
1 5,703.0 1,1450 4,558.0 9,116.0 |[ZEFNEFH £2%
2 5,631.0 1,146.0 4,485.0 8,970.0 | LR 9,280.0
3 5,752.0 1,148.0 4,604.0 9,208.0 | FRE 8,916.1
E—X Bfi:g
a MM BYMLEHE AT 143 & Yt 5 it HEFH(E
=82 G1 G2 G1—G2
1 3,356.0 1,144.0 2,212.0 44240 |ZEEEFH 5%
2 3,340.0 1,144.0 2,196.0 43920 | LR 4,629.2
3 3,353.0 1,148.0 2,205.0 44100 | FER 4,188.3

ETRERE GABRETREDFHE)

17HEYHHE TkmHYERETE
1BFRS &4 1) it H 2 (g/min X 60min) g/h +~ (TkmE Y20 X R MEE X 1000) g/km
={RERE
RAk 90980 X607+ (482X 1.6%1000)= 7.10 km/h
E—X 44087 %6045+ (37kg X 1000)= 7.14 km/h

AEREITRE 7.0km/h
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n |0FES RAD a2 = = G2—G3
g8 Gl
el 4639 4247 392 | 39.1
22 4641 425.0 391
S
L1 3 465.1 426.0 39.1 |B) P’
el 482.0 4240 580 | 580 18.9
f 2 4812 423.2 58.0 (A) —(B)
Y1 3 4818 423.7 58.1 [(A) © B’
SERATEE  70k/h  (BIERETRELETEE)
REATEEENEE (MHER)
TFTARE—R1HY (1F15cm X KEI50em)DIGE
RAVb EEt=( 48/km) x ZE(1.6) 38.4 P
1.000m = 0.5m X 1,000 :
E—X __HEE Té%g“f{)kg"; x1000 185 g B
RAVRHE—X P+B 569 g c
EFITH B & B
Al F B x OE B = i 53 TE]|
P =< P = 384 < P= 391
B =< B = 185 < B= 189
C =< C = 56.9 < C= 580
BIEE = 7.0km/h
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1. TAME—X1$HY (1E15cm X £&50cm) DIHFE
Rk
ERETE( 480/km) X ZFEE1.6 X 1,000 X NERTE 5> 79% X 0.5m
1,000

E—X
EtE ( 37kg/km) X 0.5m =

RAVRHE—ZP)+(B)

2. TAE—R1HYY lF15cm x KE20cm)DIHGE
RAVb

EREtE ( 480/km) X EFEE1.6% 1,000 X MNEATEST9% X 02m =

1,000

E—X
EETE( 37kg/km)X02m =

RAVk +E=X P)+(B) =

30.336 g
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48.836 g

12135 g
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19.535 ¢

P

(B)

(c)

(P”)

(B”)

(¢



NO 1 5HE #LiE830 ¥ 24-68

= BiRzt

RERETERER (EFER334—5—)

REIL, 10E(ZEREFRSINTLET,

BIHEE= 70km/h



